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Identify the three different levels of integration between SAP HANA models and BW
models?
 
There are 3 correct answers to this question.
 
Response: 
 
 
A. BW Layers 
B. Data Mart Layer 
C. Virtual Provider 
D. Transient Provider 
E. HANA View Table 
 

Answer: C,D,E

 

 

 
How can you use virtual navigation attributes and texts in a Virtual Provider based on an
SAP HANA model?
 
Please choose the correct answer.
 
Response: 
 
 
A. Virtual master data 
B. Data store 
C. DSO Data 
D. RDA Data 
 

Answer: A

 

 

 
What are the advantages offered by semantically partitioned object, 5 Compared to
standard InfoCubes or standard Data Store Objects?
 
There are 3 correct answers to this question.

Question No : 1

Question No : 2

Question No : 3
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Response: 
 
 
A. Call transaction RSLIMOBW 
B. Better performance with mass data 
C. Close data connection 
D. Working with different time zones 
E. Composite Provider 
 

Answer: B,C,D

 

 

 
Which is not an element of BI Projects Built on Customer LSA Standards?
 
Please choose the correct answer.
 
Response: 
 
 
A. SAP’S -LSA standards 
B. Customer- LSA operations standards 
C. Storage Management standards 
D. Customer-LSA implementation standards 
 

Answer: C

 

 

 
What are the special methods required for managing planning sessions commands?
 
There are 2 correct answers to this question.
 
Response: 
 
 
A. Rapid prototyping 
B. Ad-hoc scenarios 
C. BW Workspaces 
D. Open 
E. Close 
 

Question No : 4

Question No : 5
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Answer: D,E

 

 

 
Which of the following is not a component of “The HANA – Optimized data store”?
 
Please choose the correct answer.
 
Response: 
 
 
A. Activation Queue 
B. Change log 
C. SID creation optimized 
D. Active table 
 

Answer: C

 

 

 
What are the two main characteristics of the Transient Provider?
 
There are 2 correct answers to this question.
 
Response: 
 
 
A. Run transaction RSDD 
B. Analytical Index is displayed 
C. Not Transportable 
D. Re-created in all systems 
 

Answer: C,D

 

 

 
When would you store a table as row-based?
 

Question No : 6

Question No : 7

Question No : 8

SAP E_HANABW_12 : Practice Test

Pass Your Certification With Marks4sure Guarantee 4



There are 2 correct answers to this question.
 
Response: 
 
 
A. When the number of records is huge 
B. When all columns of the table are relevant 
C. When the table contains several repeated values 
D. When aggregation is not required 
 

Answer: B,D

 

 

 
What all are the components Available in HANA Finance Accelerators?
 
There are 2 correct answers to this question.
 
Response: 
 
 
A. DSO 
B. ERP system 
C. HANA DB 
D. Data Mart 
 

Answer: B,C

 

 

 
What all are the elements of LSA?
 
There are 3 correct answers to this question.
 
Response: 
 
 
A. Reading from a DSO is faster 
B. No reporting on Propagator 
C. Result of transformations stored in additional persistent Layer, i.e. Architected Data Mart 
D. Virtualization Layer only on top of Architected Data Mart and only UNION (MultiProvider) 
E. Calculations and aggregations are faster 

Question No : 9

Question No : 10
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Answer: B,C,D
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